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MATH PART 1
33 minutes
nswer from the
Directions: Choose the best
four given 10 eac roblem
i ?
1. 190 written 5 fraction joi e =y
o
@A) oo
g
(B) 90
I 1
© 10
s
() 10
2 Based on the table, how many more ships did
: England have than portugal from 1600-17007
Number of Ships Sailing to Asia
from European Countri€s 1500-1800
— 1500-99 16001700 1701-1800
Netherlands 1,770 2,950
811 1,865
155 1,300

|

(J) 440 ships

(K) 1,399 ships

(L) 1,669 ships

(M) Cannot be determined.

5 11,
2+ isequal to et ot f

10
11

1

(B) ™

© Z
12

D) =
72

s

Which of the following is not a pri
—_— Time ny
mbe,;

0 29
(K) 43
(L)~ 57
M) 71

5

E. and 1

The least common denominator of 1
5 S

1

308

?

(A) 6
(B) 12
(C) 30
(D) 60

Amanda uses three rolls of yarn to m

scarf. If she already has four rolls, ho ake one

more rolls must she buy in order to n‘:l:lany
€2 tota]

of three scarves?

g3
(K) 4
(L) .5
M) 9

Based on the following chart, how much |
revenue does worker B earn than worke le)s?s
r

Revenue per Worker

10,000 O
8,000
6,000
4,000
2,000

Revenue($)

Worker

(A) $1,000
(B) $2,000
(C) $3,000
(D) $4,000
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SECTION FOUR: pRACT
e m.‘é{v"é.“
1

a shipment of 126 new

If each shelf

d
qore juSt 7€ o
§ A pook® ¢ need 1° be disP layed.
e oks tha s, hoW many shelves aré needed in
g boo Kks?
ho;d: 1o disP1?Y all of the bo°
ord®
g shel"®
(:Z) 14 she]ves
EL) 16 shelves
o0 222

mmon factor of 18 and

1L Whatis the greatest €O
Y

) 3
(B) 6
() 8
(D) 24

() 058
) 06
(L) 0625
M) 1.6

13. Th i
ke:j:l:;erc{nl homeroom classes (A, B, and
i s0t :ihc lol‘al amount of outside I’nd(':)
iy u -cnts in each class completed “‘“E
’ at is the only month in which Ch:sha

read more books than Class A?

Monthly Totals of Books Read For
Each Class
30 o
3
o
= 15
éw
5 7
z |
0‘]/"' - }
Sept od Nov ST
Month

(A) September
(B) October

© November
(D) December

15. Anna earns $40 for babysitting one night. If $5
how much did Anna earn per

of her total is tips
if she worked 5 hours?

hour
(A) $6
(B) $7
(Cc) $8
(D) $9
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SECTION FOUR: PRACTICE TESTS
TACHS PRACTICE TEST 1

18. 1-(-4)=

16. Brian decided t0 give
his allowance this week for helping D™
chores. If Brian ends up giving his

how much was his al

() §7.22
(K) $16.65
(L) $18.50
(M) §$25.55
ivided up their

A.J.,and Clare d
he chart. Wwhat

{ according to t
otal project were Mar

17. Mike, Marid,
assigned projec

fraction of thet

responsible for?
portion of Assignment

0.10

) ~
4
B
20
3
(@) 0
o) >
4
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iaand Al

19.

n -5
(K) 5
(Ly -3
M) 3

Michael wants to bike over to his frj
He'decides to take a shortcut thls friend’s
which is 346 yards less than i[hmu.gh the par,
sh‘ortc.ut. If the distance from h; :‘d not take l‘h
°
ance without using the zhOrtcut,
Ortcut?

house

(A) 774 yards

(B) 1,466 yards
(C) 1,812 yards
(D) 2,586 yards




21.

SECTION Foy -

es 0f40 Stu . g mao
dclllS ona science ltsl \Vhi( ]l 1S a correct hl\‘ll ra

s the scor
¢ foll0 Scores Number of Students f the dayy
51-60 5 AR
61-70 5
81-90 15
91—100 /6___*
(K)
0 Science Test Scores
20
§ 15
v
. s 10
glﬁ i s
gw zg o
i 5160 60 T 00 9100
£
; o Scores
M)
(L)
science Test Scores
science Test Scor' g :
210
2 20 ;
}3 1
% 10 é :
-! 5 z s1-60 6170 neo 8190
; i 51-60 61-70 71-80 81-90 91-100 e
Scores
_ Alexandra bought two books at the book-

0.000045 written in scientific notatio

(A) 45x107
(B) 45x10°
© 45x10°
(D) 45x10™

R

$8.95 and the other was

store. One book cost
2.45, how

ked. If the total price came to $2

unmar
cost? (Assume there is

much did the second book
no sales tax.)

(N $13.50

(K) $14.40

(L) $14.50

(M) $31.40
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TACHS PRA
o, Chip decided 1 test how well plants grew with fertilizer. He g1,
For his scienc® Pro}ecc-dmerem pots and labeling each of the plz'mts. Plant A had n e off b
13 o in thre 4 amount of fertilizer. Plant C had four times the recommendeg an:e,. Plan
B had the rec@ me cutive days he measured the height of each plant in centimeters 2 Oun o
fertilizer en 60"5lllts which plant grew the most from Day 7 to Day 9? € follgy,
er sults-
ng lﬂble r .
4
10 12
3 4
A) Plant A
() Plant B

C '
(€) plant : _hined from this data.

into her savings account and use
s 3 of her weekly allowance i 8 s the rest as her

i u
24, Jaime always P27 carned $18 this week for her allowance, how much money will be for

rcentage of people in each age group for five different S
€s,

aph shows the pe
bar grap ir population in the 65+ age group? (Soy
5 Tce:

have the smallest percentage of the

2004)

25. The stacked
What two countries

CIA World Factbook, |
Age Stucture of Various Countries

[ 65+
M 15-64

M o-14

Percentage
: 38 %8 % 3

United Canada
States

Costa Rica Germany India

Country

(A) Germany and Canada

(B) Costa Rica and India

(C) United States and Canada
(D) Costa Rica and United States
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SECTION FOUR: PRACTICE TESTS
TACHS PRACTICE TEST 1

e which is currently having a sale where ever
stor

ks at a

e wor

iginally priced at $24.90, How
26 1° frame that was originally p

y frame is 30% off. A customer wants
to Purchase a

much is the new sale price?
g $747
8.30
K $
@) $16.60

h below shows oil production and oil consumption for fiye different
The graph be
27: Ane &

countries. Which two
nsume more than they produce? (Source: CIA World Factbook, 2004)
countries €O :
Oil Production and Consumption

15 7

Million bbl/day

Oil Production

A oj| Consumption
Canada China United Saudi

States Arabia
Country

Mexico

(A) China and Uniteq States
(B) Canada ang China

(C) United States and Saudj Arabia
(D) Mexico and Canadq

28,



SECTION FOUR: PRACTICE TESTS
TACHS PRACTICE TEST1

p track of how many points he scored during his final basketball ga
how many points he had earned. How many mgo:e of the
points djq

he recorded
rters combined?

rdan wanted to kee
han in the first and third qua

ach quarten
he second quarter t

Jordan's Basketball Score

29. Jo
season. After €

Jordan earn int

B T

17 A
%

l: :ﬁ \\ \//'

4_/—‘—

Points

e
1st Qtr 2nd Qtr 3rd Qtr 4th Qtr

Quarters

(A) 7
(B) 9
€ 2

(D) 3
Based on the following table, what is the total percentage of young children and adults wh
wno are

30.
allergic to peanuts?

prevalence of Food Allergies in the United States

Food Young Children Adults
Milk 2.5% 0.3%
Egg 1.3% 0.2%
Peanut 0.8% 0.6%
Tree nuts 0.2% 0.5%
Fish 0.1% 0.4%
Shellfish 0.1% 2.0%
Overall 6% 3.7%
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TACHS PRACTICE Trar
1

—

32. Martin decided to study for his math test by d
0-

4 on the following chart of exchange rates,
pas¢ : - : .
: pad one unit of currency from ;flach?coun ing practice problems. If each problem takes hi
m
U.S. dollars? the same amount of time, and he finished 105
problems between the hours of 2 p.M.and 5 p.m

3
if T he most in

jch is wortht
how many problems did he finish per hour?

ue equivalent of $1

]
if ony
@
ostralia 0 35
gt (K) 21
(L) 525
(M) 33

[ndi2

) Australia

Britain
(D) Furo
36. The closest estimate of 6.44 x 11.38is ———-
et PART : (7 66
7minl.lfes (K) 7
g @) it
. ctions: FOF questions 33-50, estimate the e
lr:,er- no scratch work is allowed. Do not try
S )
T e 37. The number 8.542 rounded to the nearest tenths
33, The closest estimate of 661 + 382 i place is :
(a) 800 (A) 80
®) 900 (B) 85
(©) 1100 (C) 854
() 1300 (D) 9.0
34, The closest estimate of 539 < 6is : 38, The closest it TR 520,00 - s sttt |
0 ¢ (J) $7.00
L5 (K) $6.00
b (L) $5.00
B (M) $4.00

39. The closest estimate of 23 +25+32is ——-

35. The closest estimate of 25,840 — 16,109 is

(A) 900

(B) 9,000 (8)-.0

(C) 1,000 (=il

(D) 10,000 (G %0
(D) 90

KAPLAN) 499
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SECTION FOUR: PRACTICE TESTS
TACHS PRACTICE TEST 1

40. The closest estimate of 99 x 7

p | PRASEEy

(J) 70
(K) 700
(L) 7,000
(M) 70,000

The number 612.786 rounded to the nearest

hundredths place is

41.

(A) 600.000
(B) 613.000
(C) 612.800
(D) 612.790

42. The closest estimate of 7,372 - 2,938 is ———-

) 2,000
(K) 3,000
(L) 4,000
(M) 5,000

43. Rounding to the nearest dollar, the closest
estimate of $3.75 + $4.50 + $1.75 is

(A) $8.00
(B) $9.00
(©) $10.00
(D) $11.00

44. The number 5,609 rounded to the nearest

hundreds place is

() 6,000
(K) 5,600
(L) 5,700
(M) 5,610

45. The closest estimate of 23,522 + 3 (.

(A) 8

(B) 80
(C) 800
(D) 8,000

500 KAPLAN)

46.

47.

48.

49.

50.

-5.38is

The closest estimate of 15.87

The closest estimate of 523 x 563 is

(A) 25000
(B) 30,000
(C) 250,000
(D) 300,000

Round 25.006 to the nearest tenths place.

(J) 30.000
(K) 25.000
(L) 25.100
(M) 25.010

The cost of Maggie’s book with tax is $8.72. If
she gives the cashier a 20 dollar bill, what is the
closest estimate of the amount of change that she

should receive?
(A) $11.00
(B) $12.00

(C) $13.00
(D) $14.00

The closest estimate of (289 + 850) + 40 is
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RT1

,9"'“ PA
P |
| L o queslion, the three figures the question are alike in some way. Select the answer
pif‘cti;:[ 'shares hat similarity:

ic
‘,/ho‘c %] (B) (C) (D) o
J.

0 o R0, CaMIg e O

08 e -
2
i i & (D) (E)

DREISE R

A £ [0 g%mw

w 501
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SECTION R; -, Erssf ‘
TACHS P (A) (B) (C) (D) &
p / == Z => B»a Sz
) (K) (L) (M) (N)
=0
» O (A) (B) ©) @ (g

/@%

(K) (L)

/ggwﬁ
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SECTION FOUR: PRACTICE y

1)

TACHS PRACTICE Tes Tn;

(L) (M) (N

D%Dh@

(© (D) (E)

m:AE[{m

) (K)

(L) (M) (N)

@m%ﬂl@

(B)

© (D) (E)

) (K)

(L) M) (N)

4w O @ N

(B)

(© (D) (E)

WD&A )

(L) M) (N)

OIM‘@
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Direclions: ¢ secon gure shows 2 parlicular change from the first fi
o wi" becorne whiCh Oft gure. The third fi
gure, ifchangcd :
In
(A
) (B) (C)
(D)

he answer choices?

(E)

-0 ® SUP<b
L e -
Al o @ A ©
[0 "sO0oc
W e .

o et g

26.

vaniaN)

-~



SECTION FOUR: PRA( TCE

TACHS PRACTICE ‘!,ﬂ \
S \

(A) (B) (€) (D) (F)
49 6 00
0 (L) (M) (N)
Y O » 6 O
(A) o
S @ S © @
0 Y
/A A A A /A
(A) (B) © (D) (E)
4
1) (K) (L) M) (N)
o N © [ B
(B)

ADWRA

HaREANY: 208

e —
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SECTION FOUR: PRACTICE TESTS
TACHS PRACTICETEST 1
(M)

O—2: 1~ :
_—’ .
1

(A) (B) (C) (D) i

Q“W:O—’ (]D e DQ B

v (L) ™)

40.0"@10” @ @ @ @ @

ol -




SECTION FOUR: PRAC T
TACHS PRACTICE 1yg, ©
- = \

RT 2

o :
4 e cond figure shows a PamC“lf“' change from the first figure. Which answer choice shows
o5 e su]d result if the same change is made to the third figure?
t wo
Viﬁﬁl ¢ [ha
4 gur

sl

0
EL i (o] I
o)
:
(B) (€) (D) (E)
(A)
‘ | | I
o)
%/ o ol Q o O
q 0 (o} (o]
% I T I
0) (K) (L (M) (N)
L —--- e emmeloan
i B E- 1 :_ 1 E_
8. e !
! I ! !
'0"'1—6' [6) [ 0o [} 0 0
Woo | JESSEM O 4 {000 00
00 o) 0 o 0
0 0 O (o] (o] (o]
| 1 | I 1
(A) (B) © (D) (E)

KAPLAN) 507




T EE—

SECTION FOUR: PRACTICE TESTS

TACHS PRACTICE TEST 1

44.

45. T

508 KAPLAN)
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#1000 |0
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-
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SECTION FOUR: PRACTICE 1,

TACHS PRACTICE Tgsy :
o
ol L
...... preiess e e
4 00 0 -
e (o} O (o) _lo ol _| 3
0 8 ) 0 0 o et
0 & 00 o) | O,O
© (D) (E)
(A) (B)
E i A
. |
o)
o
o
o
o —8 S 0
- o
¢ |
0)] (K) (L) (N)
...... IR SO
E = E
H O
£.
| | |
oo 0O 8 8 oo OO
] b, |8 X
080 (o). (o)
00 00 020 0 | o ] l
(A) (B) © (D) ®
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SECTION FOUR: PRACTICE TESTS

TACHS PRACTICE TEST 1

50.
' |
00
(oXe)
(o]
i (e)®) (oXe}
' T
(L) (M) ™)

0)



